A& ol & AF 2 & Al A
201445 Z0il&h 2ersl
FA AL
& 200 Mi2ls¢
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8-.-5 Ol &4 & Ol &Y Hns
3 A 12,560,930 15,918,184 3,357,254
raR=Re Y\l 12,560,930 15,918, 184 23,357,254
200 Al2l=+=¢l 558,640 551,225 7,415
210 ZH4 I M2+ ¢ 251,140 235,000 16,140
211 A= 39,140 38,000 1,140
211-02 SFMAL U= 39,140 38,000 1,140
OFRHAERX SUHE 39,140
212 NhE2+Y 178,000 163,000 15,000
212-08 JIEtAE = 178,000 163,000 15,000
Osm=d BAEE 55,000
OsgIIBAIE S5 M= 50,000
O=SME(ZEWNSR) AEE 55,000
OXotdEANES 18,000
215 dxnFs4+¢ 34,000 34,000 0
215-01 &=+ 34,000 34,000 0
OctdAss F+UR= 34,000
220 SAIHH 2l +¢ 307,500 316,225 AB,725
223 JlEt=¢ 307,500 316,225 A8B,725
223-02 Ha3HASS 50,000 70,000 A 20,000
OSEHRUAER 22 =R HY3 30,000
O=ENS® 22 387X #a3 20,000
223-03 WEHE 2,000 3,500 A 1,500
Od&gY AL BHUZ 2,000
223-09 J2=¢ 255,500 242,725 12,775
OEEXNT 2= SSME ANE0IE FE3 255,500
500 Ex= 12,002,290 15,366,959 A 3,364,669
510 = 1EBX=SS 9,761,501 13,883,000 AN4,121,499
511 =18x=8 9,761,501 13,883,000 AN4,121,499
511-01 =12 %= 6,624,501 7,199,000 A 574,499
Ol dEiotd Z4Ae 3,000,000
Odligtd ngol 2 A 2,500,000
O=2IIGHEKRAEA (42 & =AIE) 1,054,501
O=Jttd R NE= At (4012 2l otd 2tel) 70,000
511-02 3% - AL NEEIINEXS 3,137,000 6,684,000 23,547,000
OJINlg 2R SHEZFAY 132,000
OAMXI 7 =9 &&= TWHHIIe XA 144,000




A AL LTH
& 500 Ex3
2 510 218x328
& 511 218X 3S EEREED)
2H-2-2.8.5 Oll &F o & E Ol At Hns2
Ostgd2x 7 &g xyel 120,000
OAl&t2X 7 =2 ZA= M8 X3 A 120,000
OSEHAY ST HUIAMY (MY Sot) 1,071,000
OZHAN DISSEIHAY 1,350,000
O=gti=2 ZHISA 100,000
OEs2FKX HHSA 100,000
520 Al - SHIREXZS 2,240,789 1,483,959 756,830
521 Al - EHIEX=S 2,240,789 1,483,959 756,830
521-01 Al - EHIE XSS 2,240,789 1,483,959 756,830
OUEX MESIE &AL 800,000
Odtd S22l (31HL) 105,000
OJIAs B&Z SEZHAZ 17,000
Odigtd D&l 2 ZEAY 500,000
OAMMIF =2 E&2 THHH JIBHXI& At 18,000
Ostgox? e axyel 15,000
OAMAX T =2 ZXHE THHHIIE XI& AL 15,000
O=gti==2 HHISA 7,500
OYSAFX FHISA 7,500
OFZFHA DISSTEFHIAMY 138,000
OO XA O XX+ St Al 500,000
OXgsta EX® FHl 20,000
OTHalol - B2 A KAl 9,789
ORsIa4EE AMAE 2= 18,000
O2=dl E&AZ 40,000
Olls =X+ 822 ZHI3A 30,000
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PN AL ST

HE: sI|BAL Fl

& sgE =+ 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 5,800 5,400 400
01 = LH o4 1l 5,800 5,400 400
OSFAHF=X Ot 3,000
SENY RFL Ol 2,800
203 R =&t 3,000 3,000 0
03 AIHZ=XH R =AH| 3,000 3,000 0
OAESA BE PRFLH 3,000
401 AIEHI L 2 CHYI 696,500 847,500 A 151,000
01 A& HI 680,500 830,500 A 150,000
Ogeray S4(10012)
3,000,000& * 1000 A 30,000
OJtStHl S==HZ A
50,000,000& = 1JH A 50,000
Osggs2eAE 288+ 300,000
OLEARX B, B2 (100H2) 100,000
Oas 4 2F X ZHISA 100,000
O=g& ety HUl(FE X AHAY
6,700,000& * 1500 A& 100,500
03 Al 2 0HHI 16,000 17,000 A 1,000
Osgga2el AL 4,000
OgtoliCHHl ot == &Hl X2
500,000& = 8Jf S » 3 12,000
2. ==& 2el 320,180 320,180 0
&2 6,239
Al 313,941
101 @144 dl 48,000 48,000 0
04 DIt Z2XREES 48,000 48,000 0
Otz 2e|l 12 40,0003 » 8% » 150 48,000
201 et 70,180 70,180 0
01 At 22l 40,080 40,080 0
Otil=& &JItM 2 A"l 500,000 * 4042 2,000
Ofj+= FJjgE22 ez
340,000 = 14042 = 8IHE 38,080
02 =224l 30,100 30, 100 0
Oti=& &=
250,000& = 1402 = 70HE 24,500
O2==Zdl Fblibl 60,000& * 60CH 3,600
OgtoliCHHl &==&H RFUH
2,000,000 = 14l 2,000
307 glz2+ol & 20,000 20,000 0
& 6,239
Al 13,761
02 2P AEXS 20,000 20,000 0
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el

X ZH
S =

rag=R=p\ i

sgES 2l

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OxclH 2ZEXS(SHWEAM) (2000 ) 20,000
=2 6,239
Al 13,761
401 AIEHI L 2CHEI 182,000 182,000 0
01 A& tl 180,000 180,000 0
O ==Z JIHEIIE =3 At (2Hi =2 3904
2) 180,000
03 Al 2 THHI 2,000 2,000 0
O=& 22l AIZ=20dl 2,000
SH+2 Il 140,000 136,000 4,000
< 30,000
Al 110,000
401 Al HIZ 201 I 140,000 136,000 4,000
< 30,000
Al 110,000
01 A& HI 100,000 100,000 0
ols =X+ E2= FHI S AH(L=1.5kn) 100,000
< 30,000
Al 70,000
03 Al S HHI 40,000 36,000 4,000
O8Hi#+2 =M ¥ SLFH Itz (L=60k
m) 500,000& = 8 S » 9 36,000
OS2 FHIAY Al E20HHI 4,000
St=sUHES AL Etl=2 &l 232,000 192,000 40,000
403 MHXSHHSA=0l& 232,000 192,000 40,000
02 2125 Ofl CH 5 0 84 AH 3 B 232,000 192,000 40,000
O8W42 +ZRHAH L =4 (L=110kn) 55,000
OZN, SRM+=& KX 228l 37,000
OO Xt ==Z S Xl 22l 50,000
O8ti+=g HEAY 50,000
OAFA tHACH A 40,000
22 AL HESA 240,000 456,000 £216,000
& 200,000
< 15,000
Al 25,000
=gti==2 EHI S At 120,000 240,000 A 120,000
& 100,000
= 7,500
Al 12,500
401 Al HI K 201 Y] 120,000 240,000 A 120,000
= 100,000
< 7,500
Al 12,500
01 A& HI 120,000 240,000 A 120,000
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S AL
M =x I BB
o9l s&E ZFIIE 1S CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,350,000
403 XX SRS K20 & 2,700,000 900,000 1,800,000
2 1,350,000
Al 1,350,000
02 Z2II2S0CHeCHE AFS I 2,700,000 900,000 1,800,000
OZ=AUA NISZUFHIAIY(HH Sa0s o
£01) 2,700,000
2 1,350,000
Al 1,350,000
A2 FOU=A AY 2,024,300 5,235,300 AN 3,211,000
HEEZZ A 22 669,000 1,020,000 A 351,000
305 HHAZ2S 5,000 5,000 0
01 A Z2S 5,000 5,000 0]
ORZOSE BEETLS HAS S 5,000
401 Al HI L 2 0HHI 664,000 1,015,000 A 351,000
01 Al& B 650,000 1,000,000 A 350,000
OLD=EX 242 10,000,000& * 10& X| 100,000
Oz & wag 244 (4500 4) 550,000
03 Al 20| 14,000 15,000 A 1,000
OEXNZE & =442 (302 X) 10,000
OHIEATZZ S22 AIE2U8 4,000
A2 XNEHe 203,000 2,050,000 A 1,847,000
401 AlEHIZL £ 0HY| 153,000 1,870,000 A 1,717,000
01 Al&H| 150,000 1,870,000 A 1,720,000
OstalH H2012 Y2 AH|(L=350m) 150,000
03 Al& 201 Y| 3,000 0 3,000
OAEZA AIE20HHI 3,000
403 XX S HS K20 & 50,000 180,000 A 130,000
02 SIS CHSHCHE AFS HI 50,000 180,000 A 130,000
ORds MU s 50,000
A48 22 10,300 12,300 A 2,000
201 gEt24Ay| 7,300 7,300 0
01 AP 22| d| 7,300 7,300 0
OJlz=w=E WIMMHEl 5,0008 x 150 23] 1,500
OLAXNERAE ALY
100,000& = 10¥ = 53| 5,000
OJdlsus ZAISE 400,000& * 23] 800
202 04| 3,000 5,000 A 2,000
01 2Ll 3,000 5,000 A 2,000
OH&EI = =80 H| 3,000




S AL
B =& WA B8
Sl ATRD FOS AL CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ARE FOI=RAALS (5044) 1,142,000 2,153,000 A1,011,000
201 LBt 9 ]| 8,000 8,000 0
01 AP 22| H| 8,000 8,000 0]
QHUEXN AR 0l SIAE =422 8,000
401 Al HI L £ 0HHI 1,134,000 2,145,000 A1,011,000
01 Al& b 1,130,000 2,140,000 A 1,010,000
oorger2l & Xz AHH|(33MA) 470,000
2 - 2 AEHI (8 A) 340,000
OFH ZH(10HA) 300,000
OEXZHE & =242 (502 X) 20,000
03 Al 20| 4,000 5,000 A 1,000
OAlIE S0t 4,000
NEWE &= 42,330 42,920 A 590
=29 X AE XEA 42,330 42,920 A 590
ZENESR A2 2ZLSTA AEHEA 15,000 15,000 0
201 et 8,000 8,000 0
01 AP 2t 2] H| 8,000 8,000 0
O=ZF M E&H3 8,000
202 044l 7,000 7,000 0
01 2Ll 7,000 7,000 0
OHEHY HRF=A | 7,000
SEEAMAELE A2 2T AT AL 27,330 27,920 A 590
101 Q124 H] 23,330 23,920 A 590
04 JI2ZtHIZ2 2 NEES 23,330 23,920 A590
O=2s A HelB8d & RS AR AL QI
= ol 23,330
-Jl23 1,098,000 = 1 x 12& 13,176
—AHZ20122d) 1,098,0008 * 4=27| 4,392
-2 A= 51,980& * 18 » 7¢ 364
=] 130,000& = 1Y » 12& 1,560
- Y& FOHY|
1,098,000& = 0.6 » 1& = 23] 1,318
- WESE X H| 130,000& * 1 = 128 1,560
-JIEx4 80,000& = 1Y x 12& 960
201 et d| 4,000 4,000 0
01 AFR 2t 2| bl 4,000 4,000 0
O=ZF Mo s 2 200,000& * 20 X| 4,000
of&de NRIIs 23t 9,642,159 6,987,000 2,655,159
= 5,500,000
& 1,925,000

~




SN AA
¢}

=R
M ot DRIIs L&
chelr CAGHE FHI (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,217,159
oot FHl 82,200 62,200 20,000
T aotE Fl 82,200 62,200 20,000
201 Let24E] 22,200 22,200 0
02 =224l 22,200 22,200 0
Odligta 2HS &II123(500=)
2,500 = 500= = 12& 15,000
ouzad 8=+ RY dJIRS
500,000& = 123 6,000
Osdtd x8s IR
2,500 = 40= ~ 12& 1,200
401 Al HIZ 201 I 60,000 40,000 20,000
01 A& HI 60,000 40,000 20,000
OZ Mot FEHI (T AlIGHE 50HA) 60,000
et StEEHI 795,000 610,000 185,000
< 125,000
Al 670,000
ot |Xl2el 400,000 250,000 150,000
< 125,000
Al 275,000
201 L4 50,000 0 50,000
01 At 22l 50,000 0 50,000
Ootd 2 & kst 50,000
401 AIEHI L 2 CHYI 350,000 250,000 100,000
< 125,000
Al 225,000
01 A& Hl 350,000 250,000 100,000
Odtd sXZel (314, 177.4km) 210,000
< 105,000
Al 105,000
OXgaotd EX& Fb| 40,000
< 20,000
Al 20,000
OB+ LIS 100,000
sStEsZE3A =& &2l 395,000 360,000 35,000
403 Mt SHHSA=0l& 395,000 360,000 35,000
02 S| 2 S0il CH &t CH & A I 395,000 360,000 35,000
OZs2, Mg, AlotHi=%& <& 2t 55,000
Oetsgti+=& f&2cl 340,000
SH& TH off o1l 2 8,764,959 6,314,800 2,450, 159
= 5,500,000
= 1,800,000
Al 1,464,959
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X ZH -
L= B

el

rag=R=p\ i
ot 2 NRJIls &t
Sh& TH off o1l 2

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
of& JIdM 2 MY 218 3yl 924,959 648, 130 276,829
101 @121 303,242 274,898 28,344
04 JI2ZtH22XNHEE =+ 303,242 274,898 28,344
OodlEAIE X222 (R BHE) 16,472
-J=E2 69,500 * 1 = 190 13,205
- R4+ 69,500 * 1Y *» 38% 2,641
R PR A= Ry 69,500& * 18 » 9! 626
OotMAIE SR 222 (AR 22H) 286,770
-J22 55,000& = 229 = 190 229,900
-S25dsY 55,000 *» 22H = 38 45,980
RGN ESE= LS 55,000& = 229 * 9¢ 10,890
201 LEt2 Y| 77,617 77,732 A 115
01 AR 22| I 23,925 20,980 2,945
OotdEX & Y & HF o HE
500,000& * 1000 & 5,000
OHESX XL 2R =2, 2E £ 248
200,000& * 40Z X| 8,000
Odtd 22| & 2tAH| 2,500& = 23% x 190 10,925
02 3524t 53,692 56,752 A 3,060
Od=H| 18,032
- 0WFIl 2,000& = 2000 = 3L = 15 » 8& 14,400
— k2421 2,000& = 10H = 20L = 10 * 8& 3,200
-NEss 2,000& = 3CH » 3L = 32 = 8& 432
OAlI& &H|l X4l 35,660
-0HI A 15 60,000& » 21CH * 8& 10,080
-WHFINY 2 58 100,000& = 210H * 8& 16,800
-ot&3 2 58 180,000& = 23Y¥ * 23] 8,280
I 500,000& = 1CH * 13l 500
202 4] 2,100 3,500 A 1,400
01 2LHOHI 2,100 3,500 A 1,400
Ot Z2AIY RFX0NHI 2,100
401 AIEHI L 200 540,000 290,000 250,000
01 Al Bl 500,000 250,000 250,000
O ot&EIJIAM ZHHIAFY (3190 A /177 . 4km) 200,000
OHMer 212 ZHIHl (3102 /177 . 4km) 300,000
03 Al 201 Y] 40,000 40,000 0
OXeataE HHIAIY A& R0 10,000
OMaoHtHEl ot& 2023388l &Hl Lxts
500,000& = 60CH 30,000
405 XtakF SHI 2,000 2,000 0
01 A&t =S F SHI 2,000 2,000 0




M AL
M ot NRIIs &2
Chl: GHE TH ol ol & (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMg 28018 W=l &  500,000& * 404 2,000
GH& THoHOIE ALY 500,000 0 500,000
< 500,000
401 A& BIZ 201 8I 500,000 0 500,000
< 500,000
01 A& HI 500,000 0 500,000
OO Xt& O XtAI+ of & &l (L=700m) 500,000
= 500,000
MEHOHE A A 4,100,000 4,166,670 A 66,670
= 3,000,000
< 800,000
Al 300,000
401 Al Bl & 28I 4,100,000 4,166,670 266,670
= 3,000,000
< 800,000
Al 300,000
01 A& HI 3,833,000 3,863,670 A 30,670
OUEA MEHGHAE &AL 3,833,000
= 2,839,200
< 762,480
Al 231,320
02 Zeltl 258,000 297,000 A 39,000
OUEA MEHSHE =&AL Zeldl 258,000
= 154,800
< 36,120
Al 67,080
03 A& SR THHI 9,000 6,000 3,000
OUHEA MENSIA ZSAIY AE=S20HI 9,000
= 6,000
= 1,400
Al 1,600
nge &2 ZEAY 3,240,000 1,500,000 1,740,000
= 2,500,000
< 500,000
Al 240,000
401 Al HIZ 201 8] 3,240,000 1,500,000 1,740,000
= 2,500,000
< 500,000
Al 240,000
01 A& HI 2,990,000 1,400,000 1,590,000
Oolgtd netol & ALY 2,990,000
= 2,350,000
< 470,000
Al 170,000
02 Zteltl 250,000 90,000 160,000
Oclgtd netol 2 ZAAY Zeldl 250,000




PN AL ST
M ot DRIIs L&
Sl of & THoH ol &

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 750,000
< 30,000
Al 70,000
Sl R E ALY 1,124,501 1,124,501
= 1,124,501
ISt RN E AL 1,124,501 1,124,501
= 1,124,501
SIS R E AL (42 &= Al A) 1,054,501 1,054,501
= 1,054,501
101 @14 Hl 482,736 482,736
= 482,736
04 JIZHHZ22XREES 482,736 482,736
OBt A E R X 2| A2 (Y BHA) 11,676
-JlEs 69,5003 * 1& = 120 8,340
= 8,340
-S54 69,5003 * 1Y » 24 1,668
= 1,668
—oneaag 69,5002 * 12 » 6 417
= 417
-—542eg 104,250& » 198 » 12 1,251
= 1,251
OBt AR 2] A2 (AR 40%) 380,040
-JlE= 55,000 = 40% = 120 264,000
= 264,000
-S=5L¢xE 55,000& * 40% * 24= 52,800
= 52,800
PN =R =y 55,0003 = 408 » 6 13,200
= 13,200
-522fsE 104,250 * 4098 » 12 50,040
= 50,040
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